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CERTIFICATE IN WATER HARVESTING AND 
MANAGEMENT (CWHM) 

Term-End Examination 0 0 2 9 6 
June, 2015 

ONR-002 : BASICS OF HYDROLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. Use of calculator is permitted. 

	

1. 	(a) What do you understand by precipitation ? 
Name its important components, which 
component is the most important in the 
plain areas of the country. 	 1+2+1 

(b) What are main physiographic factors 2+2 
affecting runoff ? Why the runoff from light 
soil is less as compared to heavy soil ? 

(c) How does the depth of water bodies 
influence evaporation ? 

	

2. 	(a) Define the water losses. Explain the terms 	3 
of water loss equation. 

(b) Using neat diagram explain the simplest 	4 
method of measuring infiltration. 

(c) Define percolation. Why the percolation in 	3 
sandy soil is more than in the clay soil ? 
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3. 	(a) Describe Thunderstorms. 	 2 
(b) What are major rainfall seasons in India ? 

Explain salient features of monsoon rainfall 
season. 	 1+2=3 

(c) What is the importance of correct 
measurement of rainfall ? How is the point 
rainfall measured ? Distinguish between 
recording and non-recording type 
raingauges. 	 2+1+2=5 

	

4. 	(a) Using thiessen polygon method estimate 
average rainfall over an area of 400 km2  
using following rainfall depths at different 
raingauge stations : 

Station 1 2 3 4 5 6 
RF (mm) 275 450 540 380 510 310 
Area of 

polygon (km2) 
50 60 90 85 60 55 

(b) Describe importance of estimation of missing 
rainfall data. Under what conditions is the 
arithmatic mean method for estimation of 
missing rainfall data used. 

5. 	(a) With the help of schematic diagram, explain 	4 
the relationship between rainfall, infiltration 
and runoff. 

(b) Compute the runoff coefficient if the depth 	3 
of runoff and rainfall are 400 mm and 
1200 mm, respectively. 

(c) How will you measure the discharge in a 	3 
trapezoidal channel ? 

5 

5 
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6. 	(a) Define time of concentration of watershed. 2+3 
Compute time of concentration if average 
velocity of flow is 0.8 m/sec and maximum 
length of flow is 2200 m. 

(b) List main physical characteristics of rainfall. 3+2 
Explain the relationship between rainfall 
intensity and raindrop size. 

	

7. 	(a) Define water pollution. Explain the 2+3 
harmful effects of agricultural waste on 
ground-water pollution. 

(b) What do you understand by electrical 	2 
conductivity (EC) of water ? Explain its 
limits and purpose of measurement. 

(c) It takes 60 sec for a float to travel 45 m 	3 
distance in a channel of 0.6 m depth and 
0.5 m width. Compute the discharge of 
channel in litre/sec. 

	

8. 	(a) Name the sources of Amoebiaries and its 	3 
symptoms. 

(b) List the salient features of a house hold 	4 
water treatment system. 

(c) Write a simple water budget equation and 3 
define its components. 
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3. 	(a) 	clr1c1,*1q11' 	 2 
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50 60 90 85 60 55 
-iii7 	4q 

qrf ff.. 

(b) aq1 3T511121 i 31%31.  firTW-d-i cht-If 	5 
airdFrWt? qtrit313172/3141t3ITt 

-mu; faRT 	m4141 6-1 3371 

cwf chqi Ant? 

5. 	(a) RArdeh 	tgl 	 qlsrf, 	 * 	4 
-11 	TErEz f I 

(b) irq 31747 3117 	 sb4-1* 400 "NA. 	3 
3th 1200 -N.*. t 37877 TIT "quT1* 

(c) (1-K-0 14ttTIRTITt 	) 	3 
	 37rq 	 ;Mt ehP ? 
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7. 	(a) 1 T ntiul 	trfrirrr-Em 1 	I Og 1 T 	2+3 

ct,4 alrl cprti-aTtrftrzt* 	3P-TA 

faw auk W-A-R 
(b) f-41-4-04 +iciw:ndi (ti.) 	31rq 

1,1174A ? 	ict;1 +114-113ff at{ Trrcri * 3-074 

+14-miR I 
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